
08-06-2025

Clik / Rogue XP Swing Away Armrest 



08-06-2025

When to use Short vs. Tall Swing Away Arms: 18" Wheel: Rear Seat Height = 11.5" use Tall // Rear Seat Height = 12" or greater use

Short 20" Wheel: Rear Seat Height = 12.5" use Tall // Rear Seat Height = 13" or greater use Short 22" Wheel: Rear Seat Height =

13.5-14.5" use Tall // Rear Seat Height = 15" or greater use Short 24" Wheel: Rear Seat Height = 14.5-16.5" use Tall // Rear Seat

Height = 17" or greater use Short 25" Wheel: Rear Seat Height = 14.5-17.5" use Tall // Rear Seat Height = 18" or greater use Short
 

Item Number Part Number Description Quantity

1a, 2-11 502492 Swing Away Short Armrest w/ Receiver Assembly
Right 1

1b, 2-11 502493 Swing Away Short Armrest w/ Receiver Assembly
Left 1

1a, 1b, 2-11 502494 Swing Away Short Armrest w/ Receiver Assembly
PAIR 1

1c, 2-11 502495 Swing Away Tall Armrest w/ Receiver Assembly
Right 1

1d, 2-11 502496 Swing Away Tall Armrest w/ Receiver Assembly
Left 1

1c, 1d, 2-11 502497 Swing Away Tall Armrest w/ Receiver Assembly
PAIR 1

1a, 2 - 5 502485 Swing Away Short Armrest Assembly Right 1

1b, 2 - 5 502486 Swing Away Short Armrest Assembly Left 1

1a, 1b, 2 - 5 502487 Swing Away Short Armrest Assembly PAIR 1

1c, 2 - 5 502488 Swing Away Tall Armrest Assembly Right 1

1d, 2 - 5 502489 Swing Away Tall Armrest Assembly Left 1

1c, 1d, 2 - 5 502490 Swing Away Tall Armrest Assembly PAIR 1

6-11 502491 Swing Away Armrest Receiver Assembly One
Side 1

2 100804 Tube End Plug 1" 2

3 000065 M6 x 23.68 Threaded Barrel 1

4 101179 M6 X 10 Shcs Blk Zc W/Patch 2

6 001769 Arm Receiver LW 1

7 001762 Arc Adjustment Cam 1

8 101835 M6 Lock Washer Blk Zn 1

9 102614 M5 Split Lock Washer BLK ZC 1

10 102623 M6 x 20 BHCS BLK ZC 1

11 102621 M5 x 8 BHCS BLK ZC 1


